
Exercice   5   : Le labyrinthe  (8 points)
Pour traverser le labyrinthe, il faut faire +1 à chaque pas. Trouve le bon chemin.

Exemple : 

                                    Entrée 

   20 + 1       20   3d et 1u 10 + 10 + 2
 2d et 2u  vingt-trois 10 + 10 + 8       29
10 + 10 + 3 vingt-quatre  2d et 7u     trente
      29    20 + 5  vingt-six       31      

                                                           Entrée 

 
 vingt-neuf   48 + 3 quarante-

     six        47  26 + 20   59 + 2   58 + 4 soixante-
     trois 6d et 4u        67

  cinquante
   et un   48 + 2        49 quarante-

     huit        48        60  34 + 30  60 + 7 soixante-
       cinq   59 + 7

 50 + 2 6d et 0u        56   49 + 8 5d et 8u
 
 cinquante-
     neuf

5d et 9u  40 + 19        70        69

5d et 3u   49 + 5   50 + 5    trente-
     six  20 + 17 6d et 2u        63   soixante

   et un
 soixante
  et onze   69 + 4

Sortie

Sortie




